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ADDRp <= AddrVar(7 downto 0);
ARDy <= ’1’;
wait until (ARCVp = ’1’);
ADDRp <= AddrVar (15 downto 8);
wait until (DRDYp = ’1’);
DataVar <= DATAp;

A2:

A3:

A1: [ true:
   ADDRp <= AddrVar(7 downto 0);

[ (ARCVp = ’1’);
ARDy <= ’1’;]

ADDRp <= AddrVar (15 downto 8);]

[ (DRDYp = ’1’);
DataVar <= DATAp;]
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protocol rtzRead;
protocol rtzWrite;

process example;
in signal start;
channel addr<7:0>, data<7:0>: rtzRead;
channel addrOut<7:0>, dataOut<7:0> : rtzWrite;
{
   boolean x<7:0>, y<7:0>;
   start+;
   addr?y | data?x;
   addrOut!y| dataOut!x;
   start−;
}
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(a) Free−Choice Petri Net (b) Conflito (escolha condicionada)
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with       select

                    "0110000" when "100",
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